
Sčítání a odčítání desítek do 100  

 
1. Spoj příklady se stejným výsledkem. 
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2. Doplň řetězy. 

 

       20 + 30 + 50 – 2 – 5 =  

        

       100 – 60 – 20 + 6 – 2 =  
 

 

            83 + 5 + 7 – 10 – 20 + 0 =  

 

        14 + 5 + 8 + 50 – 20 – 4 = 

  

        40 + 50 + 10 – 60 – 8 – 2 – 1 = 

 

         90 – 80 + 40 + 5 + 7 + 8 + 20 = 

 

         80 + 10 – 30 – 60 + 0 + 60 + 20 = 

 

         15 + 2 + 3 + 4 + 50 + 20 – 50 – 0 = 

 
 

 

 

 

 



3. Doplň tabulku správným číslem. 
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